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Answers given at the end of the page. or click on check answer link

1. &MUl FSITLD eeTmletT LIFLILIETa] 150 &F.Q&.10. 95607 6@ enemeuaill LD 20 Q& .15, LnMHEMIT([H
LN 6VANIL_ L& & 60T 2|6Tem6UE 55IT600T.

a. 15Q&.185.
b. 21 Q&.L0.
c. 24 Q&.L0.
d. 27 Q&.106.

Check Explanation

2. @ @ 6M6THTSH60T LITLILIETE| 56 Q&F.18. 60T GSSWTLD 7 Q& .15 6Tevfleb @)60)600T5 55 60T
3G LILIGHGHLD 6T60T60T?

a. 6Q&.L9
b. 4Q&.L5
c. 8Q@&.18
d. 2Q&.108

Check Explanation
3. @ CHMETHH60T LMLILITLIL] 98.65 &.Q & 115 6T6dfl60 QLT &H6MEE SHT600TS.

a. 1.8cm
b. 6.2cm
c. 3.4cm
d. 2.8cm

Check Explanation

4. @] 2_(HEM6ET U6l QS TLIQUIN6T Q&meaTaTera 1848 $mA3$. 56T alL_L LD 14 m eT6vfleL, 2 (HemerT
Qg6 Q&ML IQUIGET L5 T 6M60TE &5IT600TS.

a. 12m
b. 10m
c. 8m
d. 14 m

Check Explanation

5. R(H HEOTFSTEHFT R6IQEUTIH (LNEMETWD 50% SH &8 LILILLIT6V, G0 GmLITLILer
LTLiYey gmul (Reter & &HLILemerT &HeTH5H 60 &TeuTds.

a. 525%
b. 425%
c. 225%
d. 325%

Check Explanation

6. (H QF6IGHSFH T LITLIL| 16 FHl IO LIJ. SH60T HEMLD, 35605 &6 L BTN DL MBI SIF&HLID
6Te0f 160 QFELEUSSEH 60T SrMHMETEY 6TELAIETE?

a. 1218
b. 3518
c. 1518
d. 209

Check Explanation


https://www.easytutorial.in/question/49752
https://www.easytutorial.in/question/49753
https://www.easytutorial.in/question/49754
https://www.easytutorial.in/question/49755
https://www.easytutorial.in/question/49756
https://www.easytutorial.in/question/49757

7. ([ QF6IGHSH 60T HETLD FH60T I &H6VEFeM6oTLIGLITEY @) (HLOLMIEG h@GLD. HeTmeTgl 5 Q& .15
GMMSBEHLILL(HILD, &HeVTeTgl 5 QF, 15 H&lEaLILL BN @IHHSTED CF6IaISE5H 60T HeTLOT60TS
75 5.0F.15 9D &FERMI. 3,566 QF6IaISGST 6T H6TSHS 60601 &5IT600T5.

a. 10 Q&8

b. 20 Q&.L8

c. 15Q&.19
d. 25Q&.18

Check Explanation

8. R(H QF6IHEHFH 60T LNV L &G 60T BT 17 Q&F.LS Q@G . BT FMHMETE| 46 Q1 &.10 eT6vfley
QFalaIEHSH 6T LITLILIETEI6m60TE &IT600Ts.

a. 160 Q&.LS
b. 200 Q&.15
c. 120 Q&S
d. 100 Q&.5

Check Explanation

9. (B LjevQeueflmenT sl Q&F6lalsh aIlgaISH60 2 : 3 6TatTm eiGHHH 60 LISSMIGHN6TEH GG TeouT(H6TeTS!.
LieuQeuerfluflestr LIFLILIeTe) 1/6 Qam&CLF6N 6Tevflel, QF6IaUSHSH 60T HETLD LDMMILD 28 6V8 5606075
HIT6O0T 5.

alledL : e = 33 * (1/3) LS, &y&6uld = 50 LI

a. [Hem = 33 * (1/3) 1Y, 3y&6ulh = 50 LS
b. Herh = 36 * (1/2) LS, &y&Heuld = 45 LS
c. MHemD = 34* (1/4) 1S, &1&6uld = 35 LS
d. e = 32 * (2/3) 1S, &y&6eulh = 40 LS

Check Explanation

10.5 1S 44 Q& LS Bem(old, 3 1S 74 Q& .15 9I&H60(NLD 2 ML 6(H Semmuiley FSIT aulgaflevmerT e(H)&H6T
LSS (DIGQaRh&sLILGRaTME. 248566, CHamaIlILGIL) GombsLLE FSIT allg el e(bhserfler
6T 600T 60071 8560185 60) LI &> 55IT600T 5.

169 &5IT e(H\&H6IT
176 81T e2(H\&H6IT
156 &8IT e(H&6IT
183 51T e(H\&H6IT

o 0N T

Check Explanation

11. (D FHTSHH6UT (NH6L QUL &S CH TN & WS 5% B &FSSI6Terg! IDMHMILD @)F600TLTLO
QML &L QST &WITETS 5% &HenMbSIETeTS. @T6ewTLT al@BL @oISulley @BHS QLTSS
D565 QS TN & WITeTSl 9975 LGN, 3,&5C6 (NS5 (L QFTLESHSTH ) @) (HHS

D& Q15 Me0 & U 60)160TE &5IT600T5.

70000
5000

20000
10000

o N T o

Check Explanation

12. @ ULLGHH6T TSHH60 50% GSeOMBSHTV, A HeoT LFLiLIeTelled GenmbaleTer &5 67 s 5 60 ers
S T600T 5.

75%
25%
50%
100%

o N oTw


https://www.easytutorial.in/question/49758
https://www.easytutorial.in/question/49759
https://www.easytutorial.in/question/49760
https://www.easytutorial.in/question/49761
https://www.easytutorial.in/question/49762

Check Explanation

13. @@ (WN&CHTevoT RIS leor LFLiLemeleor eGSO 4 : 3 LnMHmILD Sjeumnilest 2 Wigmigefler al&GsL 3 :
4 9 GLD. 2,566, @)H (NHCHTEOTHIGHETIT I LILGHHEMRI&6 6T a6 555 6m6Ts &ITeors.

9:3

4:12
16:9
16:4

o0 T

Check Explanation

14. @[ @)eOETHTSHH 60T 1 LILISGSHLDTETS G607 2 UTEHFHlemeorl] GLIMeV @) HLOLMBISTEGLD.
@) ENETEHTSFH0T LITLILIOTE 72 &F.Q&.15 6T6vfl60, SISH60T 2 WLITSHS) 6016078 &5IT600T 5.

5Q&.18
6 Q&F.18
3Q&.18
4 Q&0

o0 T

Check Explanation

15. @ aUL_L aulgellevment Limigsmellest LITLIL] 13.86 Qam&CL T @&LD. LmisTealenerd g&mnl Geuedl
MGG S L ([HEG €h. 4.40 QLGLD 6Tevfley, QOTSHHLD 6T6laITe| QG Tens CHemnaullLi(BILh?

em. 4562
em. 3476
em. 5808
em. 1394

o0 T

Check Explanation

Answers

1. 15 Q&.15.

2. 8 Q&F.LS

3. 2.8cm

4. 12 m

5. 225%

6. 20 LS

7. 20 Q&F.10

8. 120 Q&.185

9. bermLd = 33 * (1/3) LS, Sy&euld = 50 LS

10. 176 5817 (H&H6IT

11. 10000
12. 75%
13. 16:9

14. 6 Q&8


https://www.easytutorial.in/question/49763
https://www.easytutorial.in/question/49764
https://www.easytutorial.in/question/49765
https://www.easytutorial.in/question/49766

15. e. 5808



